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SECTION 2.4
. . . - z—1
2.4.1 Find any points of discontinuity for f(x) = poaEE
. . . - z+1
2.4.2 Find any points of discontinuity for f(z) = il
2’ -3 | . :
2.4.3 Show that f(z) = is not a continuous function.
z—+3
x® +1 o .
2.4.4 Define f(x) = - so that it will be continuous everywhere.
> +z—6
2.4.5 Define g(z) = ——g 50 that it will be continuous everywhere.
2.4.6 Prove that f(z) = Vz? + z is continuous on [0, 400).
2.4.7 Assign a value to the constant k¥ which will make g continuous.
42
x # =2
g(g;): $3+2$2+CE+2’ %
k, r=—2
2.4.8 Assign a value to the constant k£ which will make h continuous.
3 2
z° + 3z +:v+3, z£ -3
h(z) = z+3
k, r=-3
2.4.9 Assign a value to the constant £ which will make f continuous.
x? -4z +3
—, T#1
fwy={ =-1  °7
k, z=1
2.4.10 Show that f(z) = z+1 is not continuous at * = —1 but is continuous from
2z + 2, z> -1
the right at x = —1.
(222 4+ 3z +1
e s S R |
z+1
2.4.11 Examine h(z) = 1 || and determine if A is (a) continuous at z = —1,
—, -1<z<0
T
L 2z, x>0
(b) continuous at z = 0, and (c) continuous from the right at z = 0.
2z +3 <1
—_ w —_—
2.4.12 Examine g(z) ={ V 2+ +2?’ and determine if g is (a) continuous at ¢ = —1, (b)

2 - 9:2, x> -1
continuous from the right at z = —1, and (c) continuous from the left at x = —1.
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Questions, Section 2.4

[z +1], z<-2
r+1, -2<z<l1
Let g(z) = VZ+3, 12256
6
, 6 <7
88— ST
St 7<x<10
(a) Determine if g is continuous from the right at z = —2.

(b) Determine if g is continuous from the left at z = 1.
(c) Determine if g is continuous at x = 7.

(d) Determine if g is continuous at z = 9.

z—1
Show that f(x) = ) is not continuous at £ = 0 or x = —1 and show also that the disconti-
nuities at £ = 0 and £ = —1 are nonremovable.
1 . : . . .
Show that f(x) = @-1 is not continuous at x = 1 and that the discontinuity at z = 1 is

nonremovable.
Show that the equation f{z) = x* + x + 6 has at least one solution in the interval [-3,0].

Show that the equation f(z) = 23 + 3z + 1 has at least one solution in the interval [-1,2].

1
3—x

Determine the interval for which f(x) = is a continuous function.

Show that f(zx) = cannot be made continuous for any assigned value of the con-

stant k.



